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OLIVER TWIST

1) (basic) CIRCLE THE FALSE SENTENCES. 
      
(intermediate/advanced) CORRECT THE FALSE SENTENCES.
- Oliver Twist lives in England in the 19th century.
…………………………………….............…..

- Oliver Twist’s family loves him.

………………………………………………….

- Old Fagin is good to Oliver.
………………………………………………….

- Oliver has got three brothers.

………………………………………………….

- Oliver Twist doesn’t like to live with Fagin and the other children.

………………………………………………….

2) REWRITE THE STORY IN THE CORRECT ORDER.


- In London, Oliver meets other boys and Fagin.


- Oliver Twist becomes an orphan.


- Oliver lives in a home for orphans.


- The young boy has a nice family in a beautiful home.


- The boy escapes away to London.

· First…

· Next…

· Later…

· Then…

· Finally…
3) basic: Circle the correct option:
· Oliver is tall / short.

· He has curly / straight hair.

· He has dark / fair hair.

· Oliver is British / Portuguese.

· He hasn´t got a father / parents.

intermediate / advanced: Write a description about Oliver twist using what you revised in units 1 and 2. (to be, have got, nationalities, family, parts of the body, adjectives…) 5 lines minimum.
